
Geometry  

Assignment 2.1 

State the property that justifies the statement.  

1. If JK = PQ and PQ = ST, then JK = ST.          ________________________________________ 

2. If AB – CD = EF – CD, then AB = EF.          ________________________________________ 

3. If x = 5 and y = x + 4, then y = 5 + 4.              ________________________________________ 

4. If 2(x 8) 32,− = then 2x 16 32.− =                   ________________________________________ 

5. m A m A∠ = ∠                                                   ________________________________________ 

6. 2AB CD,= then 
CD

AB .
2

=                           ________________________________________ 

7. If m B 45 180 ,∠ + ° = ° then m B 135 .∠ = °          ________________________________________ 

8. If 
3

x 5,
4

= then 3x 20.=                                    ________________________________________ 

 

Use the property to complete the statement. 

 

9. Addition Property: If AB = CD, then AB + BC = CD + _____. 

10. Substitution Property: If m A 90∠ = °and m A m B 138 ,∠ + ∠ = ° then ______ m B 138 .+ ∠ = °  

11. Transitive Property: If m A m B∠ = ∠ and m B m C,∠ = ∠ then _______ _______ .=  

12. Multiplication Property: If 
1

XY WZ,
2

= then XY __ WZ,= i  

13. Division Property: If 5(m A) 125 ,∠ = ° then m A ______ .∠ =  

14. Reflexive Property: AB _____ .=  

15. Subtraction Property: If XY WZ ST WZ,+ = + then XY = _____. 

16. Distributive Property: If 2(m A m B) 2m A _______ .∠ − ∠ = ∠ −  

 

17. 

Find x and give a reason for each step. 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

1. ( )AB 20, BC 4 2x 3 , AC 56= = + =  1. a) 

2. AB BC AC+ =     2. b) 

3. ( )20 4 2x 3 56+ + =    3. c)  

4. 20 8x 12 56+ + =     4. d)  

5. 32 8x 56+ =     5. e) 

6. 8x 24=      6. f) 

7. x 3=      7. g) 

Statement Reason 

4(2x 3)+20 

56 

A B C 



18. Given ST SR,QR SR,≅ ≅ find the value of the variable and give a reason for each step.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

19. Given BD
����

bisects ABC∠ . Find x giving a reason for each step. 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

Answer Key: 

1) Transitive Prop.  2) Addition Prop.  3) Substitution Prop.  4) Distributive Prop.  5) Reflexive Prop  

6) Division Prop.  7) Subtraction Prop.  8) Multiplication Prop.  9) BC  10) 90°  11) m A m C∠ = ∠  12) 2 

13)25  14)AB  15)ST  16) 2(m b)∠   

17) a) Given  b) Segment Addition Postulate c) Substitution Prop. d) Distributive Prop. e) Simplification  

      f) Subtraction Prop. g) Division Prop.   

18) a) Given  b) Transitive Prop. c) Definition of Congruence  d) Given e)Substitution Prop.  

       f) Distributive Prop. g) Subtraction Prop. h) Addition Prop. i) Division Prop.  

19) a) Given b) Given c) Definition of Angle Bisector d) Substitution Prop.  e) Addition Prop.  

       f) Subtraction Prop.  

 

Q R 

S T 

x + 4  

5(3x - 2)

1. ST SR,QR SR≅ ≅     1. a) 

2. QR ST≅      2. b) 

3. QR ST=      3. c) 

4. QR x 4,ST 5(3x 2)= + = −    4. d)  

5. x 4 5(3x 2)+ = −     5. e)  

6. x 4 15x 10+ = −     6. f) 

7. 4 14x 10= −     7. g) 

8. 14 14x=      8. h) 

9. x 1=      9. i) 

Statement Reason 

A 

B 
C 

D 

(3x 18)+ °

(4x 2)− °
1. BD
����

bisects ABC∠     1. a) 

2. m ABD 4x 2, m DBC 3x 18∠ = − ∠ = +  2. b) 

3. m ABD m DBC∠ = ∠    3. c)  

4. 4x 2 3x 18− = +     4. d)  

5. 4x 3x 20= +     5. e) 

6. x 20=      6. f) 

Statement Reason 


